


Dear colleague, radiology pictures & cases are for practice,
please study your lectures then practice & don’t rely on this
file to pass the course, as exam changes are regularly done.
This file contains past years questions , and 1t will be
regularly updated .



radiology



abdomen



1- according to this
Image :

a) gall stone

b) acute cholecystitis
c) Appendicitis

d) Renal stone

i) o)
wall thickening + edema
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duodenal atrasia




What is the most
common cause for this
case

a) CA colon

b) Adhesion

c) Valvulus

d) Recent surgery

e) Sigmoid CA

This pic = large bowel obstruction




according to this x ray
what is false

a) neurogenic bladder
b) hydronephrosis not seen
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this case in neonate is

a) Normal chest x ray

b) Right middle lobe collapse

c) Right upper lobe collapse

d) Right middle lobe Consolidation




a) LLL collapse

b) RLL collapse
c) RUL collapse
d) LUL collapse
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Double border of heart
Sail sign




few minutes after
delivery this child suffer
from SOB

a) eosophagial fistula
b) RDS

c) pneumonia

d) Forign body

UDQ,AMUSJM\
Bell shape




a) right pneumothorax
b) left pneumothorax
c) LLL collapse

d) Plural effusion

e) Consolidation

Visible visceral line

Rt hyper inflated




This chest ct
considered

a) Major PE
b) Minor PE
c) TB
d) Cyst
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Neuclear



a)Bone metastasis
b)Normal

c)Paget disease
d)osteoporosis




a) Normal thyroid
b) Graves’ disease
c) Kidneyimage R




Dexa sacan for patient ,The T score value
L1=-2.7

L2=-2.9

L3=-2.9

L4+L5=-2.4 Patient suffer from ????

a) Osteoporosis

b) Osteopenia

c) Normal patient



T SCORE CLASSIFICATION PERCENTAGE LOSS

T-SCORE

OSTEOPENIA




a) Cold nodule
b) Hot nodule
c) Normal thyroid
d) Graves’ disease







When you see this xr
what your spot
diagnosis

a) Rt ddh without dislocation
b) Unilateral ddh

c) Rt ddh with dislocation

d) Lt ddh with dislocation







a) Chronic aca infarction

b) Acute aca infarction

c) Subarachnoid hematoma
d) Mca infarction




All of the following
true about it except :::

a) Considered Accidental injury
b) Non accidental injury

c) Call police
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Non accidental




CilS Ly 353 ) saall
a)Low grade glioma
b)High grade glioma
c) Aca infarction
d)Meningioma




There is evident of
transependymal
edema
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rebWhervosceda



*Brain CT after RTA with Rt epidural hematoma
b pall 3 ea g (e A 3V 63 GIS J) sl
ans :no Rt epidural hematoma
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Radiolucent (costal margin)
gall stone
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Group C

Q . What i the type of fracture: Green sfick fx

A. Green gatick fracture

B. Communited fracture

C. Buret fracture Angwar : A

a>dnlog ol 38wy &, Byl S e\ \naks-3e

Q 2. Thig sign pregent in :

A.emall bowel obetriction

B. Sigmoid volvoules

C. Bruemopretonium

A B
D. Acute appendeitie I — ‘

Q 3. Which of the following repregent thig pecture :

ALraves digease
B. Normal thyroid ‘ Angwar : ¢ ‘

C. Multinodular goiter

Q 4. Which of the follwing pregent in thig picture



A. Hot nodule
B. Cold nodule

C.Graves with papilary carcinoma

‘ Anawar : B |

Q 5. T acore valueg L:-27 13-29
LZ . -2)6 L4 . ‘2,8

A. Lumbar ogteoprogis

B. Lumbar ogteopenia Angwar : A

C. Lumbal metg

D. Normal lumbar

Q 6. Chooge the correct angwar

A. right uppetr lobe collapse
B. Left lower lobe cogolidation

C. Left lower lobe collapge Angwar : C

D. Middel lower lobe collapge
w8 C\ \n gaall : aldln

Q 7. ldentify thie abnormality :
A. Perthe digeage
B. DOH

Angwar : D




C. Bone metg |
pYull en &y c\\n ol = ab>Yw

D. Slipped capital femoral epiphysie

Q 8.chooge the gpot diagnogis in thig brain legion

A. [ntercerebral hemorrage

B. Meningioma I Angwar : B ‘

C. Hemingioma

Q 9. Thig pecture repregent :
A. Normal chegt X ray

. | Answar : A |
- Right upper lobe collapse

Cleft lower lobe collapge

Q [O.Thig pecture represnt :

Arenal cell carcinomam

B. Renal stone Angwar : D‘

C.normal kidney
D. Hydronephrogie

Q “A“ O{ "’he {O”wlng |g {a[ge excep-{- A. Anterior Homn of the Lateral Ventricle

B. Caudate Nucleus

C. Anterior Limb of the Internal Capsule

O)W\ g\m m \Q”Q (Aﬂ,ﬁ\ w‘mg @9)-\)\ d gm 0\) D Putamen and Globus Pallidus
@9;\)\/\ (,\9 ,)/N 0)9.0))\ M\ (3389 OR3N E. Posterior Limb of the Internal Capsule

F. Third Ventricle

G. Quadrigeminal Plate Cistern

H. Cerebellar Vermis




Q [2.Al of the follwing are false except:
A. Right renal etone

B. Give oral contrast Angwar : C

C. No lv or oral contragt uged

Q [3.Chooge the correet angwar :

A. Small bowel obgtriction | Anawar - C |

B. Acute appendeitig

C.Large bowel obgtriction

Q [4.Chooge the correet angwar :
A. Bone metig

B. Multipel fracture Angwar : A

C. Communited fracture

oYl e &, c3\\n Biga)l : 3o
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Q 16.Which of the follwing answarg are mostly true :

A. Dlureal effugion



B. Left pnuemothorax
C. Hydropnemothorax
D. Right middel lobe collapse

Angwar : ¢




Radiology

Group B



hydropneumothorax




this case in neonate is

a) Normal chest x ray

b) Right middle lobe collapse

c) Right upper lobe collapse

d) Right middle lobe Consolidation




left lower lung
collapse




Dexa scan for patient ,The T score value
L1=-2.6 L2=-3

13=-2.3 L4=-2

L5=-1

Patient suffer from ????

a) Osteoporosis

b) Osteopenia

c) Normal patient



a)Widening growth plate in
right

B) Perthes disease




Hydronephrosis
without stones




scaphoid bone
fracture




calculus cholecystitis




LARGE BOWEL
OBSTRUCTION




There is narrowing in the
rectum Dilatation in
sigmoid colon Recto
sigmoid index <1




Pulmonary
embolism (PE)




Duodenal atresia




Vesicoureteral
reflux




Axial non-enhanced computed
tomography in a 56-year-old man
who presented with
unresponsiveness

Hyperdense
basilar artery




Two days after CO intoxication, a 57-
year-old woman

*Hemorrhage in globus
pallidus




frog position




ACUTE HYDROCEPHALUS




ediffuse brain edema




pneumothorax




brain tumor
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Archive

Wateen Group A

Done by : Batool frehat




1) hydronephrosis

2) findings?

‘i
a- rlght hilar Iymphadenopath
b- right hilar lymphadenopat
with pneumothorax
c-all of above is false

3) findings?

a-right triangular opacity
b- normal sign

4)what is the type of
this fracture ?

a- green stick fracture
b- communited fracture
c-burst fracture




5)Which is true about this
picture ?

a- thyroid scan ,represent
graves disease

b- thyroid scan ,represent
multinodular goiter
c- renal scan, DTPA

6)

a- cold nodule
b- hot nodule
c- hormal thyroid

7) on bone scan,
t score

L1-L3 =-2.6
which is true?

a- lumber osteopenia
b- lumber osteoporosis




...............

a-midgut volvulus
b- sigmoid volvulus

a-small bowel obstruction
b-large bowel obstruction

10)findings?

a-gallbladder stone

............................



12) diagnosis??

a- cystic fibrosis
b- TB, bilateral fibrosis

13) diagnosis?
a-pleural effusion

b-pneumothorax
c-hydropneumothorax




15) which of the
following is true?

a- DDH
b-normal picture

16)diagnosis?

a- DDH

b-perthes disease
c-slipped capital femoral
epiphysis ' ‘

- 17) which of the
following represents
this picture?

a-meningioma
b- multiple sclerosis
c-abscess




18) all are false except?

a-bilateral renal stones
b-CT , with oral and iv
contrast

c-CT, oral without iv
contrast

d-MRI , without contrast

19) one is truly match ?

a- A--fourth ventricle

b- B----corpus callosum
c- C----caudate nucleus
d-E---posterior limb of
internal capsule

20) not seen in this
picture ?

a- epidural hemorrhage
b-subdural hemorrhage
c-pneumocephalus




RADIOLOGY




T score Jlgw
L1- L5
-1,-3,-2,-2,3,-2,0

a. osteopenia 4
b. Osteoporosis



a.calculus cholecystitis
B. acalculus cholecystitis




a. Normal
b. Gravis




a)Bone metastasis
b)Normal

c)Paget disease
d)osteoporosis




LLL collapse




hydropneumothorax




a. Normal CXR 4
b. Pneumonia




neonate with aspiration and this image for his CXR:
a. Normal chest x ray
b.right upper lobe pneumonia




CONTRAST
013856217 44
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a. major PE
b.minor PE




66- years old patient with this image:
a. Large bowel obstruction B3
b. Small bowel obstruction




8.choose the spot diagnosis in this brain lesion
after contrast: OHFS 4

A. Intercerebral hemorrage
B. Meningioma i4
C. Hemingioma

D. low grade glioma
E. High grade glioma




rickets




a. basilar artery thrombosis




midgut volvulus




a. Thalamic intracerebral Hemorrhage
b. Enhanced leasion




a)Widening growth plate in rlght
B) Perthes disease




Vesicoureteral reflux




a. Normal brain CT
b.diffuse axonal injury

calcificationl 4l 8 y.5l=0lL Lgis> 8955 3J1
normal jon
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There is narrowing in the rectum
Dilatation in sigmoid colon Recto sigmoid
iIndex <1




frog position







Answer:

Rickets
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barium swallow




Normal chest




RED DOT

Hydropneumo thorax




Bone mets
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hashimoto el s> o= sl sl
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disease




Dexa scan for patient ,The T score value
L1=-2.6 L2=-3

L13=-2.3 L4=-2

L5=-1

Patient suffer from 2?77

a) Osteoporosis

b) Osteopenia

c) Normal patient



Meningioma




FROG position




Widening of the physial plate

12/70KV




Normal head ct scan




Tissue hemorrhage




Vesicourethral reflux




Acute cholecystitis

| IRg:
L 0.89 cml




Large bowl obstruction




Rectosigmoid ratio less than 1




Large PE




B e ae dxa 55 (Sas s gspiration (x Shw (2 a0 20 6 ee baby Jlsadl OIS
ubaj\ U\S o aJ}».aj\ o)S\.J UI““ Chest
Upper lobe pneumonia

Or normal ?



Group 3

cksibel, ek Yooveler

lower <l LAl cuils
left lung lobe

==l s 5 collapse
B oka oS
consolidation
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FROG position

Dexa scan for patient ,The T score value
L1=-2.6 L2=-3

L3=-2.3 L4=-2

L5=-1

Patient suffer from 2?2?77

a) Osteoporosis

b) Osteopenia

c) Normal patient



Hydropneumo thorax

a. basilar artery thrombosis

75



a.calculus cholecystitis 2
B. acalculus cholecystitis

ACUTE HYDROCEPHALUS




Two days after CO intoxication, a 57-
year-old woman

*Hemorrhage in globus
pallidus

49

a)Widening growth plate in
right

B) Perthes disease

39



scaphoid bone
fracture

There is narrowing in the
rectum Dilatation in
sigmoid colon Recto
sigmoid index <1

iy B ) g Lgadi e



this case in neonate is

a) Normal chest x ray

b) Right middle lobe collapse

c) Right upper lobe collapse

d) Right middle lobe Consolidation

Spot diagnosis: normal brain CT

Main sign:non




7Pat'lrén'§ standing
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a)Bone metastasis
b)Normal

c)Paget disease
d)osteoporosis

Q18:the following picture indicate? & s

1-polysystic kidney
2-multinodular goiter
3-cold nodule
4-gravis disease




Vesicoureteral
reflux

Duodenal atresia




Normal CXR
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Left lower lobe collapse




Hydropneumothorax

Pneumoperitoneum




Thymic sail sign

Calculous cholecystitis
?@_'m 4_1.1..‘)5 s '5‘))..45\




Midgut volvulus

Hydronephrosis

SAG RT KIDNEY




One is true:
1- Right RCC
2- Right cyst
3- Hydronephrosis

Bone mets




Perthes disease
3y gl et CilS La

One is true:
1- scaphoid fracture
2- avulsion fracture




One is true: - N
1- graves disease
2- hashimoto’s disease late stage
3- all are false

Dexa scan guestion same as archive questions




One is true:

1- acute hydrocephalus
2- brain atrophic changes
3- alzheimer's disease

One is true:

1- basilar artery thrombosis
2- normal brain CT

3- normal variant

4- brain hemorrhage




After CT contrast, one is true:
meningioma
Lo Ay 8 (B sl (s i

One is false:

1- hyperdense Lt. MCA

2- hyperacute infarction

3- diffuse brain edema

4- no parenchymal changes yet
5- parietal lobe will be the most
affected if not treated

Ay 55 ) yeall




One is true:

1- Normal ICA

2- ICA aneurysm

3- basilar aneurysm

4- Normal posterior circulation

One is not present:

1- skull fracture

2- pneumocephalus

3- subarachnoid hemorrhage
4- intracerebral hemorrhage

( with a sagittal view )




One is not present:

1- subgaleal hematoma

2- intraxial + extraxial hemorrhage
3- diffuse brain edema

4- skull fracture

5- pneumocephalus

axial + sagittal
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